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T 4\@5?&?3) ) HI%(A)l ﬂ*ﬂ;ui::lgs) LB
gxcIelolsAERAE | ®I| 0.00 0.33 0.33 0.00 0.33 0.33
(=a)28 =Bl 0.00 0.34 0.34 0.00 0.34 0.34
S5 (class)g &
gxcaelolsAeRAE [ &I 1.76 - 1.76 1.77 0.30 2.07
EXELES) =Bl 1.76 - 1.76 1.76 0.34 2.10
gxcIlolEsAEERAE | ®I| 2.26 - 2.26 2.27 0.43 2.70
(F=A) 2 ACH =Bl 2.26 - 2.26 2.26 0.34 2.61
gxcIelolsAEERAE [ ®I| 1.26 - 1.26 1.27 0.30 1.56
(ZA)Z2HAC =Bl 1.26 - 1.26 1.26 0.34 1.60
eixcelorsAsnae | ®D 0.79 - 0.79 0.80 0.30 1.09
(=4 A | =5] 0.79 - 0.79 0.79 0.34 1.13
eixclotsAsnae | ®D 1.26 - 1.26 1.27 0.30 1.57
(=422 ACe 5] 1.26 - 1.26 1.26 0.34 1.60
gRcIlotsASERME | ®D 0.76 - 0.76 0.77 0.30 1.06
(a2 aHA0N =5] 0.76 - 0.76 0.77 0.33 1.09
eixclorzAsnae | ®D 1.43 - 1.43 1.44 0.33 1.76
(ZA)Z2HAC-P =5] 1.43 - 1.43 1.43 0.34 1.77
axcazosasnag | O 13 ) 1% 1.8 0.65 2.00
(A Seh -2 =5 1.41 - 1.41 1.41 0.26 1.67
SGNCIolEAERME | A 0.9 - 0.96 0.96 0.30 1.07
(ZA)2HAS-P g 0.96 - 0.96 0.9 0.34 1.31
ARCIIOISHEERME | FI| 2.14 - 214 214 0.35 2.49
(=A)2eAC2 =5] 214 - 214 214 0.34 2.48
ARCIOI=HETME | B 2.01 - 2.01 2.01 0.28 2.30
(FA)SeHAC3 =5] 2.01 - 2.01 2.01 0.33 2.34
RSO HETME | B 1.88 - 1.88 1.89 0.29 2.18
(FA)SeHA04 =5] 1.88 - 1.88 1.89 0.40 2.29
N EDCIOISHERAIE &I 1.76 - 1.76 1.76 0.30 2.06
(FA) S eHAC5 =5] 1.76 - 1.76 1.76 0.34 2.10
BRCIOIEAERME | B 1.1 - 1.1 1.12 0.29 1.41
(FA)SeHAS =Bl 1.11 - 1.11 1.11 0.34 1.45
=1) £24, HIEHIS(Total Expense Ratio)0let 2R+ S HCOA 2Eals 249 JIEHSENUS X4 OH
ToH(EAHIB HAE JE)C2 Ur HIS2A Y 22II2 = SN SUS S22 .H22F2 LEYLUCH
F0) HOH-ZHAAZ HIS0I2 HIH-SHAAZE X4 HEHTU(BAHE H2W JIF)OZ Lie HISZAH Y
S22 = SNAI} S WH-ZSHAL20 2= LEFLLICH
F3) PRUEO ZS [ECAM LS HISS NBECSIH XIXGHs HISHE OH25H0] BHAHSH X QLICH
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> HH=AA2 ¥ 3NE (SH9l: =, sHorel %)
StAEDC|OISAENME (FA )2 E
Of = ot = OHOH 3| & 8
= = = o = = = o ool 2t of 81 Al
2,388,563 75,789 2,013,696 59,470 37.13 148.94
=1) HE2EJ12F = ME& FADIUS FNUS Y 28I & ERE F49 HZRIHe=2 L= HIE
» =232 iisl&dE 0| (9l %)
2015.04.01 ~ 2015.06.30 2015.07.01 ~ 2015.09.30 2015.10.01 ~ 2015.12.31
24.54 25.77 21.09
2R OHOHHH===+Z (0. 1%LH2I) & SHHMHAM(OHZAl 0.3%) EH2=2 AX SXXIE SEGH
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HOHBI M 2801 =2 E=R

T= BE HIZ0| SOtELICH
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